SCHOOL BASED ASSESSMENT 2022
MODEL PAPER
GRADE 5
MATHEMATICS PART - A (Objective Type)

[Part A: 50 Marks Part B: 50 Marks Total: 100 Marks]

School:
Tehsil: District:
Student Name: Section:
Roll Number: Date:
General Instructions for students : i lia S RN

1) Use mask & keep at least 3 ft. distance from each other.
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2) Read carefully and attempt all questions.
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3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.
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Example: 64+8=

a)4 b) 6 ©s d) 12
4) If more than one options are encircled in a question, no mark will be given.
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I Total Marks: 50 I Part-A (Multiple Choice Questions) I Total Time: 1 Hour I

Instructions: Twenty five (25) Multiple Choice Questions (MCQs) are given in this paper. Each question carries 2 marks.
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Question No.1: The number of digits in 1 million are:

e P S Urin i L1 A i
(a) 6 (b)7
(c)8 (d)9
Question No.2 : Solve 14025 — 1129

14025 — 1129 ./ F 2 # Ui
(a) 11896 (b) 12896
(c) 12996 (d) 13896
Question No.3 : Solve 4570 x 100

4570 x 100 /S 3 # Jir

(a) 4570 (b) 45700
(c) 457000 (d) 4570000
Question No.4 : If due to Covid safety measures, only 25 students can sit in a class room, then classrooms required for 150 students
will be:
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Question No.5:

(a)4
(c)6

Question No.6 :

(a)3
{c) 15

Question No.7 :

(a) —+
€+

Question No.8 :

{a) 1
{c) 21

Question No.9:

(a) %
() 3%

Question No.10:

(a) 17.169
(c) 17.431

Question No.11:

(a) 0. 7344
(c) 73. 44

Question No.12:

{a)0.20
{c)0.22

Question No.13:

(a) 3.82, 4.10, 3.21
(c)3.82, 3.21, 4.10

Question No.14:

(a) 0.47
(4.7
Question No.15:

{a) 170m
{c) 17000 m

Question No.16:

{a) 46 min 50 sec

{c) 81 min21sec

The HCF of 60 and 42 is:

LCMof12and 15is:

5 7
Solve T
Solve 2 x L
i .
4 .2
SolveTg i

Solve. 3. 141 -+ 14.28

Solve 3.06 x 24

Solve 1.47 = 7

The ascending order of 3. 82, 4.10, 3.211is:

47% in decimal will be:

17Tkm=

170 ~
17000 4

46 min 15 sec + 56 min 35 sec=

46 2 50 4L
81 w21 L
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(b)5
d)7
e FI b €15 4112 16 # Ui
(b)12
(d)60
2 — SS9 U
(b)— L
(d) 4
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(b)3
(d) 49
4 . 2 ;
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(b) 2
(d) 2
3.141 4+ 14.28_/ F <10 # Uir
(b)17.421
(d)17.531
3.06 x 24.4./F 11 £ iy
(b)7.344
(d)734. 4
1.47 = T.g/ S 12 £ Ur
(b)0.21
(d)0.23

e G err 3,82, 4.10, 3.21

(b)3.21, 3.82, 4.10
(d)4.10, 3.82, 3.21

(b)0.74
(d)7.4
17 % & =
(b) 1700 m 1700~
(d) 170000 m 170000 ~
46 2o 15 2 + 56 22035 LE=
(b) 56 min 50 sec 56 L4 50 4L

(d) 102 min 50 sec 102 &"50}9
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Question No.17 : Waseem takes 1hr 25min to go to Office in the morning, while comming back to home,he takes 2hr 10min due to
traffic. How much more time he takes to return home?

(6 F et g T o0 E 2 e 0§ G £ w25 BE 1 L 20 B 07 A Ui

el ok s

(a) 30 min 30 2o (b)35min 35 Lo
(c) 40 min 40 224 (d)45min 45 L2a
Question No.18: If the price of 5 pens is Rs. 125 then the price of 2 pens will be:

dredfufrineninsedfufs fas U
(a) Rs 25 25 LY, (b)Rs 50 50 2
() Rs 100 100 &2/ (d)Rs 250 250 &2
Question No.19; The supplement of 125° is:

e 2 61257 119 # Uiy

(a) 35° (b) 55°
(c) 80° (d) 90°
Question No.20: The order of rotational symmetry of given figure is:
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(a)3 (b)5
(c)6 (d)8
Question No.21: The following triangle is a/an:
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(a) Equilateral Triangle &l E oy Sals (b) Isosceles Triangle - u.‘:’.u[ Saln
(c) Scalene Triangle ol Cu;p]_j] _}f,‘s' (d) Rightangel Triangle N :,UJ[ i
Question No.22: The Perimeter of the given squareis:
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(a) 10 cm [0/”-:.‘5{ (b) 15¢cm 15}5&"
(c) 20 cm 20 2 5 (d)25¢cm 25 & 8



Question No.23:

(a) 2em?

(c) 6em?

Question No.24:

(a) 300
(c) 600

Question No.25:

{a) Class-1

{c) Class-3

The area of the given square shaped biscuitis:
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If the average of 4 quantities is 150 then the sum of the quantities will be:
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(b) 450
(d) 800

According to bar graph, which class has maximum number of students?
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